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1. If 1 then the value of  is

A. 

B. 

C. 

|x| < (1 − 7x) (1 + 2x) −1
3

3
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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_B8s8PWNwhJ6v


D. 

Answer: B

View Text Solution

1 + x
25
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2. Axis of a parabola is y = x and vertex and focus are at

a distance  and  respectively from the origin.

Then equation of the parabola is

A. 

B. 

C. 

D. 

√2 2√2

(x − y)2 = 8(x + y − 2)

(x + y)2 = 2(x + y − 2)

(x − y)2 = 4(x + y − 2)

(x + y)2 = 2(x − y + 2)

https://dl.doubtnut.com/l/_B8s8PWNwhJ6v
https://dl.doubtnut.com/l/_FfuYS86kp1p1


Answer: A

View Text Solution

3. The negation of the compound statement ~p V (p V

(~q)) is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(~p ∧ q) ∧ p

(~p ∧ q) ∨ p

(~p ∧ q)V ~p

(~p ∧ ~q) ∧ ~q

https://dl.doubtnut.com/l/_FfuYS86kp1p1
https://dl.doubtnut.com/l/_h42ixuSJHyyL


4. The determinant 

=0 if

A. x, y, z are in A. P

B. x, y, z are in G. P.

C. x, y, z are in H.P.

D. xy, yz, zx are in A. P

Answer: B

View Text Solution

∣
∣
∣
∣
∣

xp + y x y

yp + z y z

0 xp + y yp + z

∣
∣

∣

∣
∣

https://dl.doubtnut.com/l/_h42ixuSJHyyL
https://dl.doubtnut.com/l/_3czSZWzhaycM


5. The number of integral value(s) of x which satisfying

the equation 

 


 


 


A. 0

B. 1

C. 2

D. 4

Answer: C

View Text Solution

∣log4

(2x2 − x) + log2(2 − x2) + x2 + 2x + 2∣∣

= x2 + 2x + 2

+∣∣log4(2x2 − x)∣∣ + ∣∣log2(2 − x2)∣∣

https://dl.doubtnut.com/l/_GKlgccsPkvIZ


6. A = { x : x I  x} represents

A. {O}

B. {}

C. {1}

D. {x}

Answer: B

View Text Solution

≠

https://dl.doubtnut.com/l/_GKlgccsPkvIZ
https://dl.doubtnut.com/l/_xQ1XTlVP0QHa


7. The coordinates of the foci for the hyperbola

 are

A. (5.0 ) and(-5,0)

B. (2,0)and(-2,0)

C. (4,0) and (-4, 0)

D. (1,0) and (-1,0)

Answer: A

View Text Solution

9x2 − 16y2 = 144

8. If the sum of first n terms of a G. P. is  and the sum

of its first 2n terms is 5  :, then the sum of its first 3n

α

α

https://dl.doubtnut.com/l/_m0azBBjldzCI
https://dl.doubtnut.com/l/_elfDCafxx4qy


terms is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

10α

15α

21α

25α

9. If f (x)  R , f (3) = 0 and g(x) =f 

tan x +4 ) , 0  x then  g(x) is increasing in the

interval

> 0 ∀x ∈ (tan2 x − 2

< <
π

2

https://dl.doubtnut.com/l/_elfDCafxx4qy
https://dl.doubtnut.com/l/_lNNPuIiyCY9z


A. 

B. 

C. 

D. 

Answer: D

View Text Solution
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10. Consider  and  are non-zero vectors

such that 

 then 

 is equal to

→
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→
a ,

→
b

→
c

→
r . V eca = 0
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https://dl.doubtnut.com/l/_lNNPuIiyCY9z
https://dl.doubtnut.com/l/_3XzsfLdffWEu


A. 2

B. 3

C. 4

D. 0

Answer: D

View Text Solution

11. For a positive integer m, if 

 . Then the

value of m is

A. 1

lim
x→ ∞

(x3In( ) + − x2) =
x + 1

x

x

2

1

m

https://dl.doubtnut.com/l/_3XzsfLdffWEu
https://dl.doubtnut.com/l/_vzpdWyZD6Rg2


B. 2

C. 3

D. 4

Answer: C

View Text Solution

12. Let f(X) = cos x , g(x ) =

 then

A. g (x) is discontinuous at x = 

B. g ( x) is continuous for x

C. g ( x) is differentiable at x = 

{
min. {f(t) : 0 ≤ t ≤ x}, x ∈ [0,π]

sinx − 1, x > π

π

∈ (0, ∞)

π

https://dl.doubtnut.com/l/_vzpdWyZD6Rg2
https://dl.doubtnut.com/l/_oQdqRBFPFfr2


D. g (x) is differentiable for 

Answer: B

View Text Solution

x ≥ 0

13. The value of the definite integral, 

 where  and 

 . Then value of K equals

A. 2007

B. 2006

C. 2009

D. 2008

∫
θ2

θ1

=
dθ

1 + tan θ

501π

K
θ2 =

1003π

2008

θ1 =
π

2008

https://dl.doubtnut.com/l/_oQdqRBFPFfr2
https://dl.doubtnut.com/l/_MWoM0kAAfFmm


Answer: D

View Text Solution

14. If equation of a circle is given by

 ( where x = r cos 

, y = r sin  ), then the radius of the circle is

A. 8

B. 7

C. 6

D. 5

Answer: B

r2 − Br(√3 cos θ + sin θ) + 15 = 0 θ

θ

https://dl.doubtnut.com/l/_MWoM0kAAfFmm
https://dl.doubtnut.com/l/_H8NdOFVi70O8


View Text Solution

15. The value of tan  tan  is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

+ 2
π

18
7π
18

tan 80∘

tan 60∘

tan 50∘

tan 30∘

https://dl.doubtnut.com/l/_H8NdOFVi70O8
https://dl.doubtnut.com/l/_JFzHReyvqol8


16. The number of real values of the  for equation

 in  is

A. 1

B. 2

C. 3

D. 4

Answer: C

View Text Solution

θ

cos7 θ + sin4 = 1 θ ∈ [ − π, π]

https://dl.doubtnut.com/l/_ciMvPRbVsgob


17. If cos  then a value of x

is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(cot − 1( ))cot(cos − 1 x)
1

2

1

√6

−1

√12

2

√6

−2

√6

https://dl.doubtnut.com/l/_GiLeb72eNPbQ


18. The average weight of three boys A, B & C is 54 

kg, while the average weight of three boys B, D & E is 53

kg. Then the average weight of A, B, C, D & E is

A. 52.4 kg

B. 53.2 kg

C. 53.8 kg

D. Data inadequate

Answer: D

View Text Solution

1

3

https://dl.doubtnut.com/l/_NvY5QqIHW9VF


19. The solution of the differential equation:

 is given by: (where c is

arbitrary constant)

A. tan 

B. tan 

C. tan 

D. tan 

Answer: A

View Text Solution

2(x2 − xy) = 1 + cos
dy

dx

y

x

+ = C
y

2x

1

4x2

+ = C
y

x

1

2x2

+ = C
y

2x

1

8x2

+ = C
y

x

1

4x2

https://dl.doubtnut.com/l/_qynnyXkAH49q


20. For positive integer n,  + 2n is always divisible by

A. 3

B. 7

C. 5

D. 6

Answer: A

View Text Solution

n3

21. There are four balls of four different colours and

four boxes of colours same as of these balls. Find the

https://dl.doubtnut.com/l/_W0UNZBYHzu5i
https://dl.doubtnut.com/l/_WfAQD4ryZX3D


number of ways to place the balls, one in each box not

of it's colour.

View Text Solution

22. Let P be a non-singular matrix such that I+ P +

 = O (O denotes the null matrix) and 

 , then find the value of 

View Text Solution

P 2 + ⋯ + P n

P − 1 = P nλ λ

23. A and B stand around a ring with 10 other people. If

the probability that there are exactly 3 persons

between A and B is m find  .
1

m

https://dl.doubtnut.com/l/_WfAQD4ryZX3D
https://dl.doubtnut.com/l/_r37BnitNLyQT
https://dl.doubtnut.com/l/_YuS0306aSkez


View Text Solution

24. If the point  is intersection of the lines

 and 

then find the value of  .

View Text Solution

→
a

→
r = 7 î + 10ĵ + 13k̂

+λ(2 î + 3ĵ + 4k̂)
→
r = 3 î + 5ĵ + 7k̂ + μ( î + 2ĵ + 3k̂)

→
a . (2 î − ĵ + k̂)

25. A complex number z satisfies arg 

and |z| = |z-i| then evaluate [ Re ( 2z -i)] where [.] 

represents the greatest integer function

View Text Solution

( ) =
z

z − i

π

3

https://dl.doubtnut.com/l/_YuS0306aSkez
https://dl.doubtnut.com/l/_l29D6pLweh4n
https://dl.doubtnut.com/l/_tSLRGr82BumM


26. Let f (x) =  


g(x)=  and I (n,x ) = f g(x) .  dx , If

I (10,1) =  then the value of 10 k - m - q + p =______

(Given that G.C.D. (m, k) = 1))

View Text Solution

n ≥ 2
x

( 1 +xn ) 1

n

⎛
⎜
⎝
fofo.... of


n times

⎞
⎟
⎠

(x) xn− 2

(p)
m

k

q

27. Let A(k) be the area bounded by the curves y =

 and y = kx + 2. If the range of A(k) is , then

find [ p], where [] represents the greatest integer

function.

View Text Solution

x2 − 3 [p, ∞)

https://dl.doubtnut.com/l/_jGy11IXxzq5N
https://dl.doubtnut.com/l/_LVUrvY7qpzko


28. Let a, b, c be the roots of the equation 

 . Let f(x) 

 and g(x) 

in ne ` 0 ) . 


f(a) = g (a) , f(b) = g (b) and f(c ) = g (c ) , then the

maximum value of g(x) is

View Text Solution

x4 + x3 + x2 + x + 1 = 0

= x6 − 6x2 + 6x + 7

= px2 + qx + r(p, q, r, R, pIf

https://dl.doubtnut.com/l/_LVUrvY7qpzko
https://dl.doubtnut.com/l/_PMmCv2Bzix0K

